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Q1, (OCR MEI 4751, Jun 2013, Q3)
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Q2, (OCR MEI 4751, Jan 2013, Q1)
Find the value of each of the following.
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Q3, (OCR MEI 4751, Jan 2013, Q2)
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Q4 (OCR MEI 4751, Jan 2012, Q2)
(i) Evaluate 9 l 2]
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Q5, (OCR 4721, Jun 2016, Q5)

Express the following in the form 27.
(i) 2°+27)

(i) 5x47+3x163
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Q6 (OCR 4721, Jun 2015, Q3)

Express each of the following in the form 5.
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Q7 (OCR 4721, Jan 2013, Q2)

Solve the equations
(i) 31' — !
(i) 1 = 64,

(ii) (8p°)" = 8.
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Q8 (OCR 4221, Jun 2012, Q2)

Express each of the following in the form 7
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Q9, (OCR 4721, Jan 2005, Q1i,ii)
(i) Express 1172 as a fraction. [1]
(i) Evaluate 1007 2]
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Q10, (OCR 4721, Jun 2005, Q5a,b)
@) Simplify 2x3 x 3x~". 2]
(b) Express 2*° x 4** in the form 2". 2]
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Q11, (OCR 4721, Jun 2006, Q2i,ii)
(i) Evaluate 27 7. (2]
(ii) Express 5V5 in the form 5”. (1]
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Q12, (OCR 4721, Jan 2007, Q2)

Evaluate
(i) 6“.
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Q13, (OCR 4721, Jan 2008, Q3)

Solve the equations

(i) 107 =0.1,
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Q14, (OCR 4721, Jan 2009, Q2)
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